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PRINCIPLES OF ECONOMICS HSSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper i
It should be completed in the first 20 minutes and handed over to the Centre Superintende
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

i Who described Economics as a Science of Wealth?
A Adam Smith B. Marshall C. Robbins D. Ricardo
(i) Econcmics is of kind(s).
A 1 B. 2 C. 3 D. 4
(i) The utility derived from additional unit of a commodity is known as
A Initial utility B. Positive utility C. Marginal utility D. Negative utility
(iv) If Marginal Utility (MU) is zerc the Total Utility (TU) will (be)
A Increase B. Decrease C. Maximum D. Remain Constant
V) If without change in price, the quantity demanded increases, it is called of demand.
A Extension B. Contraction C. Fall D. Rise
(vi) If price of a commodity becomes double and quantity demanded becomes half the price elasticity of
demand will be
A Less than unity (E<1) B. Greater than unity (E>1)
C. Equal to unity (E=1) D. Zerc (E=0)
(vii) When Average Variable Cost (AVC) is minimum the Marginal Cost (MC) will be
A Greater than AVC B. Equal to AVC
C. Less than AVC D. Minimum
(vii)  Whatis the total number of factors of production? 7
A 1 B. 2 C. 3 D. 4
(ix) It Total Production (TP) is maximum the Marginal Production (MP) will be
A Zero B. Positive C. Negative D. Maximum
(x) Under perfect competition |
A Average Cost (AC) =Average Variable Cost (AVC)
B. Average Revenue (AR) = Marginal Revenue (MR)

C. Average Revenue (AR) = Average Cost (AC)
D. Average Revenue (AR)=Marginal Cost (MC)

(xi) Per capita Income is Income per ,
A. Worker B. Household C. Head D. industrial unit
(xii) Quantity of money has reiation with value money.
A Direct B. indirect C. No D. Inverse
(xiii) A trade cycle consists of phases.
A 2 B. 4 c. 6 D. 8
(xiv)  The major source of income of Pakistan Government is '
A, Fee B. Tax C. Price D. Fine
(xv) Due to Zakat the distribution of wealth becomes
A Fair B. Unfair C. Wrong D. None of these
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PRINCIPLES OF ECONOMICS HSSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your
answers neatly and legibly.

SECTION — B (Marks 36)

Q.2  Answer any NINE parts. The answer to each part should not exceed 5 to 6 lines. (9x4=236)
{i) How has Robbins defined Economics?
{ii) Reproduce and complete the following table on your answer book:
Units of Commodity 0 1 2 3 4 5
Total Utility (TU) 0 20 35 - 50 -
Marginal Utility (MU) 0 20 - 10 - 0
(iii) What is meant by extension of demand?

(iv) What is meant by Rise of supply?

(v) What is meant by Labour in Economics?

{vi) Reproduce and complete the following table on your answer book:
Quantity (Q) 1 4 5 6
Price (P) 8 4
Total Revenue (TR) 8 14 18 20 - 18
Average Revenue (AR) 8 7 - 5 4 3
Marginal Revenue (MR) 8 - 4 2 0 -

{vii) With- 'Fhe help of a diagram show the equilibrium of a firm under perfect competition in the long run.
(vii)  Show the circular flow of National income with the help of a diagram.

(ix) Write down any four qualities of good money.

(x) Write briefly the phases of a trade cycle with the help of a diagram.

(xi) Write down any four disadvantages of International / Foreign trade.

(i) - Write down the beneficiaries of Zakat.

SECTION — C {(Marks 24)

Note: Attempt any TWO questions. All questions carry equal marks. : (2x12=24)
Q.3  Explain the law of Increasing Returns with the help of a schedule and diagram.
Q.4 A monopolist firm can earn abnormal profit as well as loss in the short run. Explain.

Q.5 Explain the “Quantity Theory of Money”.
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